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Connect Quiz 2

Q 1 Please round your answer to three decimals and remember answer is in radians.

Use the cross product to determine the angle between @ =41 + 2k and & =55 + 0k,

Your Answer: I:I <q\ ol 17 < o’ s I C'>

n.b L Y
cost= o ol nGO"'(E*TI_'Gﬁ,

o f 19
R 19—

£ [ ])4

Q4 Find the parametric equations for the line passing through (3. 2, -2) and normal to the
plane 5x —3y +41 =12,
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10.5 Number 5
[ WUeS

Find the line of intersection of the planes: X + 5y + z =5and x — 4y + 47 =14,

A x=-8rf+5y=rfand 1 =3r+3
B.x=-8f+2, yv=rfand 1 =3r-3 ( l{gl\>ﬁ<ll~%|\*>
C.x=-S8f+2,y=tand 1 =31 +3
D.x=8f+2,y=rfand 1 =31r+3

L5 Dx=i(l, =44

<24,-3,-9>  y=0

x+z=5 _
D 3729 z=3 (=28
x+4z=14 —t
xX=2 y
<8’-1 ’-3> Z=3+3t
<-8,1,3>

I

Find the distance between the two planes given by 2x — ¥ — 7 =10 and

1x—y—1=3 -
Do
O 0 -
FDIS'l'KV':{ e heen ( b l0>
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Vector Valued Function

tx
—— F{f=<-8t+2 ,t ,3t+t >

LiNE

Match the vector—valued function
S(y=(5sin” £, 5¢05% £, 1)

(‘51 5 o>3 o __%_.X
X = S &
\/: C05-’-L ‘%9-—_7

|
Choose the sketch of the curve traced out by the given vector—valued function.

r(t)=(1,1,31)

>('={-_
2=3¢8 -

X
=3
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]
Choose the sketch of the curve traced out by the given vector—valued function.

r(t)=(3cos £, 3sin 7, 1)

(3(05‘&.)1—* (3314(%)\: C?
X'l L U‘L ~ ?
( 7 A“L t=0 r(O): <3,0,0‘>
X (3,0,0)
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Dovee  on 100
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